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REX 19 943 1863 1854 3717
HIT-E! 26 698 1353 1357 2710
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A1 E 27 1006 2025 1919 3044
S R 2 390 813 788 1601
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HHE] 23 640 1307 1240 2547
AUkl 26 1314 2565 2595 5160
= &R 15 782 1690 1672 3362
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S B 11 439 1063 995 2058
VEHEIE! 10 472 1170 1140 2310
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= ARE! 48 3096 6513 6592 13105
¥ ! 21 622 1474 1430 2904
HIgeE! 14 430 1044 930 1974
gL 20 697 1629 1521 3150
AP E 14 521 1330 1197 2527
B 15 945 2116 2013 4129
T 19 602 1537 1385 2022
pepl 20 550 1359 1292 2651
L 8 582 1559 1425 2084
gl 14 499 1285 1177 2467
W< 19 411 1025 906 1931
R 10 202 558 493 1051
GEEE 19 520 1344 1240 2584
Y 19 557 1509 1304 2813
FIgE! 12 443 1173 1051 2224
FR PN E! 21 481 1149 1132 2081
HIgE! 11 381 993 902 1895
e 17 490 1379 1267 2646
Fret 26 1322 2779 2772 5551
= IR 2 1624 3545 3561 7106
EES 28 1388 3112 3109 6221
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